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QUESTION 1
Given:

LocalDate d1 = LocalDate.of(1997,2,7); DateTimeFormatter dtf = DateTimeFormatter.ofPattern( /*insert code here*/ );
System.out.printin(dtf.format (d1)); Which pattern formats the date as Friday 7th of February 19977

A. "eeee dd+"th of"+ MMM yyyy"

B. "eeee dd\\'th of\\' MMM yyyy"

C. "eeee d+"th of'+ MMMM yyyy"

D. "eeee d\\'th of\\' MMMM yyyy"

Correct Answer: B

Reference: https://books.google.com.pk/books?id=PmiO65T9hFOCandpg=PA385andlpg=PA385anddqg=java +pattern+f
ormats+eeee+d%2Bth+0f%2B+MMMM-+yyyyandsource=blandots=IJN_-AnWQjandsig=ACfU3U2RJf7iuK3t_SKARwLSa
ak9xxV09Aandhl=enandsa=Xandved=2ahUKEwi4m6LL3vLoAhVgT

RUIHURpC38Q6AEWDHOECBQQAQ#v=0nepageandq=java%20pattern%20formats%20eeee%20d%2Bth%
200f%2B%20MMMM% 20yyyyandf=false

QUESTION 2

Given: Which one is correct?

public class Main {
public static void main(String[] args) {
Thread tl = new Thread(new MyThread(}):;
Thread t2 new Thread(new MyThread()):
Thread t3 new Thread(new MyThread()):

tliogstart{);
£2 _run();
td.start{):;

t1l.s5tart{);

}

class MyThread implements Runnable {
public void run() {
System.out.println (“Ruaning.”);

A. An lllegalThreadStateException is thrown at run time.
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B. Three threads are created.
C. The compilation fails.
D. Four threads are created.

Correct Answer: A
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Running.
Running.
Runming.

Exception in thread "main”™ javo.lang.IllegalThreadStateException
at java_base/java.lang.Thread.start(Thread. java:734)
at Main.main{Main.java:12)

QUESTION 3
Given:
List longlist = List.of("Hello","World","Beat"); List shortlist = new ArrayList();

Which code fragment correctly forms a short list of words containing the letter "e"?

A longList.stream/()
Filter{w —> w.indexdf("'e') 1= -1)
.parallel {}
.forEach(w —>» shortlList.add(w));
B. longList.parallelStream()
.filter({w —> w.indexDf({'e') != -1)
.TorEFach(w —> shortList.add{w)):

o

shortList = longList.strsam()
.Tilter(w —>» w.index0f({"e"') 1= -1)
.paralleli)

-
|

.collect (Collectors.tolList () ) ;
D. longList.stream/()
Filter{w > w.index0Of{'e'} I= 1}
.parallel |)
.collect (shortlist) ;

A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: C

QUESTION 4

Given the Person class with age and name along with getter and setter methods, and this code fragment:

List<Person» persons = new ArrayList(List.of (new Person(44,"Tom"™),
new Persorn{(40,"Aman”),
new Persor(40,“Peter™)});
persons.sort (Comparator.comparing( (Person: :getige) )
.thenComparing (Ferson: :getName)
.reversed());
persons. forEach (pl->»System.out.prirt (™ “+pl.cetName()));

What will be the result?
A. Aman Tom Peter
B. Tom Aman Peter
C. Aman Peter Tom
D. Tom Peter Aman

Correct Answer: C

QUESTION 5

Assuming the Widget class has a getPrice method, this code does not compile:

List widgets = List.of (new Widget (“Basic Widget”, 19.55), // line 1
new Widget (“Enhanced Widget®, 35.00},
new Widget (“Luxury Edition Widget”, 55.45));
Stream widgetStream = widgets.stream():; // line 4
widgetStream.filter{(a —> a.getPrice() > 20.00) // line 5
.forEach (System.out: :println);

Which two statements, independently, would allow this code to compile? (Choose two.)
A. Replace line 5 with widgetStream.filter(a -> ((Widget)a).getPrice() > 20.00).
B. Replace line 1 with List widgetStream = widgets.stream();.

C. Replace line 5 with widgetStream.filter((Widget a) -> a.getPrice() > 20.00).
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D. Replace line 4 with Stream widgetStream = widgets.stream();.

Correct Answer: AD
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